 THE BASIC ECONOMIC PROBLEM
Resources or Factors of Production or “Inputs”
Economists assume that all resources are scarce.  This means there are finite quantities of these resources.  Economists classify all the resources available to us into four very broad categories:
Activity 1: Complete the table below using an internet source or the online textbook (pp 7 and 8)
	
	Definition and a possible example

	LAND
	

	CAPITAL
	

	LABOUR
	

	ENTERPRISE
	


Resources can also be classified as renewable and non-renewable:
· Non-Renewable Resources: are resources that will never be replaced once they are used e.g. coal, oil, copper 
· Renewable Resources: are resources which can be used and replaced - e.g. environmental resources, solar power (the Sun), wind power (wind). However even these resources may not renew fast enough and are considered scarce.
Activity 2: Complete these two questions
(1) In the space provided, make a list of all the resources you would need to run a hairdressing salon
(2) Now try and classify each of the inputs into the four economic classifications above.
Efficient Resources and the difference between productivity and production
Specialisation: The Division of Labour
The importance of this idea to production was first explained by Adam Smith in his book, ‘The Wealth of Nations who suggested dividing labour and allowing them to specialize into different roles would lead to a more efficient use of resources.
Activity 3: What is the difference between ‘production’ and ‘productivity’?  Use an internet source to find out.
	


Activity 4: Using an internet source, what do you think ‘global’ or ‘international’ division of labour is and can you provide a real life example?  What may be one advantage of this to society do you think?  Is there a disadvantage?  Write your thoughts below.
	


Economics ‘Needs’ and ‘Wants’

Activity 5: write a list of 3 needs and 3 wants that you may have – what is the difference between them?
	


A key assumption with ‘Wants’ is that they are unlimited…so economists think we want everything now!  

Activity 6: To what extent do you agree with this assumption?
	


The Basic Economic Problem
In economics we make two assumptions about the society we live in – we have scarce resources and unlimited wants:







People have an unlimited number of wants and needs and given there is only limited or scarce resources (factors of production) we cannot fulfil all of these and therefore there is a problem!  There are literally not enough resources in the economy to make all the goods and services we desire; this problem is called scarcity. 

Activity 7: Describe the economic problem in one sentence.
	


The Opportunity Cost
For the following choices, give an example of a potential opportunity cost.  See the information above for an explanation.
	CHOICE
	OPPORTUNITY COST

	Studying Economics at A level
	

	Buying a Snickers bar
	

	Going to Newquay on holiday
	


SCARCE RESOURCES


First of all, the resources we use to produce “economic goods” (clothes, books, music etc) we assume are scarce – they will not last forever.  A good example of a finite resource is oil - at some point in the future oil resources will run out. 


(Resources that are not scarce are called free goods)





UNLIMITED WANTS


Second of all, we all have wants (all of us want cars, holidays etc.) and they tend to be unlimited. 





CHOICE


This is a bit of a problem (an economic problem!) because although we want everything now, we just do not have the resources to make this happen.  Therefore we have to make a CHOICE.  Not all of us can afford a car, and a holiday in Barbados.  So we have to make a choice about what we will use our scarce resources (in this case money) to acquire for ourselves. 





OPPORTUNITY COST


We can now introduce you to your first economic theory.  If we have to make a choice, then we have to give up a “want” because of our scarce resources.  Economists call this an opportunity cost – it is the cost of giving up the next best alternative when we make a particular choice.  So if we chose to buy the car, the opportunity cost would be the Caribbean holiday due to our scarce resources (i.e. ability to earn enough money).  We cannot have everything! 








